CIPS

Chartered Institute of
Procurement & Supply

CIPS Level 3 — Advanced Certi
Procurement and Suppl ns
Module 3 - Contrac inistration

UESTIONS

SAMPLE

OBIJECTIVE RESPON N D ANSWERS

The correct answe beiidentified as [key]

Q_?\

Leading global excellence in procurement and supply
L3M3 Sample Exam Questions Sep 2018



QCIPS

Q1. A performance measure that is important to the organisation, business unit or individual who is
being measured is termed a ...

a. key practical indicator
b. key performance indicator [key]
c. key primary indicator
d. key positional indicator
LO: 1
AC:1.2
Q2.
a. quality standards
b. building supplier relationships
c. value added analysis e, Ne :%
d. monitoring prices and obtaining wgwuotatiorli [key]z=
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Q3.  Dragand drop:the correct option into the blank space.
- e S
R
A ﬁm&hﬁe is‘completed to meet immediate requirements, rather than for stock or to
% . B0 r
meetfuture dem
O, U,
o, . . .
s i, w gy
& spot [key]; quiek, one-off, long term
Wl
LO: 1 b
By
I

L3M3 Sample Exam Questions Sep 2018



QCIPS

Q4. Inorderto achieve effective tendering a buyer must initially ...

a. forecast consumer demand

b. carry out market research [key]

c. establish a JIT philosophy M

d. adopt TQM gw
LO: 3
AC:3.1
Q5. m

form of negotiation in these circumstances? - % N

= .
a. Disruptive [key] = e
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b. Inclusive %% s =
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c. Open i % % MWW
d. Closed T R wF
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Q6. Draganddrop tfmeﬁ%tion into

ey W mmw
[: is a pw&s%ugh wh|ch “each party tries to achieve their goals in the context of the
reIatlo%ww‘fmmotI’f@party”

ting, Synchronising, Negotiating [key]
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Q7. To ensure that the organisation receives value for money it will use which form of pricing
mechanism?

a. Competitive [key]
b. Optimal -
c. Agreement =
d. Commercial =
LO: 2
AC:2.1

Q8. When evaluating a tender the organisation will invariably:look %he rﬁ%&
g N g

el N

a. economically viable tender [key]
b. ecologically friendly tender
c. believable tender
d. cheapest tender
LO: 3 =
)
AC: 3.3

o

rthe blank sv|;>ace.

Q9. Drag and drop the correcgopti
i,

feed it h%&sin%@?’ase to highlight value for the organisation.
ne constraints,"Milestones, Financial costings

fi
A

Q10:In order tesanage contractual risk the organisation may develop a ...
..t

=l u

R ]
a qu%w’management policy
b. risk register[key]
c. supplier appraisal
d

market analysis report
LO: 4

AC:4.3.1
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